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 : (1) -I     . 

   (2) -I     . 

   (3) -II  . 

 
-I 

        
1. (A)    -     . 5 

 (B)     . 5 
 
2. (A)    ( ) 5 
  (1) LAN          (2) MAN (3) WAN 
 (B)       ,    -   5 
  (1) STAR    (2) RING   (3) BUS 
 
3. (A)    . 5 

 (B) NIC   . 5 
 
4. (A)       . 5 

 (B) DNS   . 5 
 

-II 

      
5.      5 

 (1) ________          . 
  (a)  (Sender) (b)  (Receiver) 

  (c)  (d)   
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 (2)          ________  . 
  (a)   (b)  

  (c)  (d)   
 (3)     ________   . 
  (a)   (Guided Media) (b)   (Unguided media) 

  (c)  (Wire) (d)   
 (4)    _________   . 
  (a)   (Unguided media) (b)   (Guided Media) 

  (c)  (d)   
 (5) MAN ________    . 
  (a) 10  50  (b) 10  50  
  (c) 10  50  (d)   
 (6) VAN  _________. 

  (a)    (Virtual Private Network) 

  (b)    (Virtual Program Network) 

  (c)    (Virtual Prominent Network) 

  (d)   
 (7) UTP  _________. 

  (a)    (Unshielded Twisted Pair)  

  (b)    (Uniform Twisted Pair) 

  (c)    (Undefined Twisted Pair) 

  (d)   
 (8) _______               . 
  (a)  (Token) (b)  (Trojen) 

  (c)  (Test) (d)   
 (9) SNMP   _________. 

  (a)     (Simple Network Management Protocol) 

  (b)     (Standard Network Management Protocol) 

  (c)     (Signal Network Management Protocol) 

  (d)   
 (10) _________     . 
  (a)  URL (Absolute URL) (b)  URL (Relative URL) 

  (c)  URL (Complex URL)  (d)   
___________  
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Instructions : (1) All questions carry equal marks in Section – I. 

   (2) Attempt any Two questions in Section – I. 

   (3) Question – 5 in Section – II is Compulsory. 
 

SECTION – I 
 Attempt any two of the following questions : 
1. (A) Explain interactive and non-interactive systems.  5 
 (B) Write a note on Guided media. 5 
 
2. (A) Explain any two : 5 
  (1) LAN          
  (2) MAN  
  (3) WAN 
 (B) Define any two of the following topology and discuss their advantages and 

disadvantages.                     5 
  (1) STAR    
  (2) RING          
  (3) BUS 
 
3. (A) Write a note on Bridge.  5 
 (B) Write a note on NIC. 5 
 
4. (A) What is email ? Explain in detail. 5 
 (B) Write a note on DNS. 5 

 
SECTION – II 

 Attempt any five questions : 
5. Choose the correct answer. 5 
 (1) ________ which creates the message to be transmitted. 
  (a) Sender (b) Receiver 
  (c) Both (d) None of the above 
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 (2) How much data can be passed through the channel is called ________. 

  (a) Channel bandwidth (b) Rate 

  (c) Bit (d) None of these 

 (3) Twisted Pair Cable is an example of________. 

  (a) Guided Media (b) Unguided media 

  (c) Wire (d) None of these 

 (4) Wireless transmission is a form of _________. 

  (a) Unguided media (b) Guided Media 

  (c) Both (d) None of these 

 (5) The MAN range falls between _________. 

  (a) 10 to 50 miles . (b) 10 to 50 meters 

  (c) 10 to 50 feet (d) None of these 

 (6) VAN stands for _________. 

  (a) Virtual Private Network 

  (b) Virtual Program Network 

  (c) Virtual Prominent Network  

  (d) None of these 

 (7) UTP stands for _________. 

  (a) Unshielded Twisted Pair (b) Uniform Twisted Pair 

  (c) Undefined Twisted Pair (d) None of these  

 (8) _________ contains a piece of information which along with data is sent by the 
source computer. 

  (a) Token (b) Trojen 

  (c) Test (d) None of these 

 (9) SNMP stands for _________. 

  (a) Simple Network Management Protocol 

  (b) Standard Network Management Protocol 

  (c) Signal Network Management Protocol 

  (d) None of these 

 (10) _________ is a complete address of a resource on the web. 

  (a) Absolute URL (b) Relative URL 

  (c) Complex URL  (d) None of these 
___________ 


